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21. One of the major categories of receptors in the plasma membrane functions by forming

dimers, adding phosphate groups, and then activating relay proteins. Which type does

this?
(A)G protein-coupled receptors (B) receptor tyrosine kinases
(C) steroid receptors (D) ligand-gated ion channels
(E) glycolipid
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22. Which electron carrier(s) function in the citric acid cycle?
(A)NAD' only. (B) ADP and ATP
(C) the electron transport chain (D) NADH and FADH,
(E) Glucose
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23. Which of the following sequences correctly represents the flow of electrons during

photosynthesis?
(A)NADPH — O, —»CO;,
(B)NADPH — chlorophyll — Calvin cycle
(C)H,0 — NADPH — Calvin cycle
(D)NADPH — electron transport chain — O,
(E) Pyruvate — ATP —Calvin cycle
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24. At the M phase checkpoint, the complex allows for what to occur?

(A) Separase enzyme cleaves cohesins and allows chromatids to separate

(B) Cohesins alter separase to allow chromatids to separate

(C) Daughter cells are allowed to pass into Gl

(D) All microtubules are made to bind to kinetochores

(E) Kinetochores are able to bind to spindle microtubules
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